MA109 — College Algebra Spring 2016 . - )
Exam 1 2016-02-10 Name: SO‘%"—IOY\S Sec.: -

Do not remove this answer page — you will turn in the entire exam. You have two hours to do this exam.
No books or notes may be used. You may use an ACT-approved calculator during the exam, but NO
calculator with a Computer Algebra System (CAS), networking, or camera is permitted. Absolutely no
cell phone use during the exam is allowed.

The exam consists of multiple choice questions. Record your answers on this page. For each multiple
choice question, you will need to fill in the circle corresponding to the correct answer. For example, if (a)

is correct, you must write
JOROXOXO,

Do not circle answers on this page, but please circle the letter of each correct response in the body of the
exam. [t is your responsibility to make it CLEAR which response has been chosen. You will not get credit
unless the correct answer has been marked on both this page and in the body of the exam.

GOOD LUCK!
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| (out of 20 problems (out of 100 points)




Name:

Multiple Choice Questions
Show all your work on the page where the question appears.
Clearly mark your answer both on the cover page on this exam
and in the corresponding questions that follow.

1. Simplify the expression. 16 — 4 - 62

Possibilities: 16-4-36 = b~ 144 _..._
(a) 160

[(b) —128 ]

(c) 5184

(d) —560

(e) —32

2. Simplify the expression without using a calculator. Your answer should not have any radicals in it.

VE0V18

o JEO IR =252 J29
Possibilities: S NPV E) (u$€ the P“’\Der']y J&T'—'FFS

. iy
= 5.2-3 =39
(d) 900

(e) 68

3. What is the first operation applied to z in the following expression? 8 — (z + 3)°

Possibilities: Oro\er ot oaoerw\‘a‘or\s s 'H\zy are q(:p’ieo( to X
1) AdL R o x|

(b) Take the 5th root 2) Rawse to the SH [power

(c) Raise it to the 5th power 2) Ml ‘Hp‘ta Bg -1

(d) Multiply by —1 4y Add it do

(e) Subtract it from 8




4. Simplify, and write the given number without using absolute values. 5 — |2 — §]

Possibilities: 5 |2-81= 5 —l-bl=5-6 =17

5. Simplify the given number: 4 — | — 9|
Possibilities: =y-9 -:
(a) 13 T
(b) —13

ﬁ"{%emember ‘th O\L:solwi‘e \/o.[ae Vr:V\QkP. 'H'\e numiogr \\\s:‘o(c eo;i—h‘ve

bod de not c\:mﬂg arlifech any numbecs oudside Hhem,
(e) 5

6. Simplify, and write the given number without using absolute values. |v/3 — 6

Possibilities: J—T 2 b CU)"\(&? Peason i f”‘_l' JZ' Mo biAdad cale Fo et
(2) 6- V3 3= 1732
(b) 33 feasn 22 b=JZE, 24 73 5o j@>J3—,
() V3-6 N ' . 6 >J2 )
@ 6 Since J3'<¢ b , J3'-6 s nedmi-we so | Iy = - -4y

() 6++/3 :




7. Which of the following number lines represents the union of intervals [4,5] U [8, o0)
Possibilities:
(8) o @t ——t—@——— , ;
0 1 2 4 5 6 7 8 9 10 :
Ty Ot O—t—ts  Closed brackest L, coreespond
0 1 2 4 5 3 7 g 9 10 +O G‘OSQG)\ Ao+$ e :
() O — . \
(lj 1 ; \z{ ? 6 7 ?t 9 10 ‘Dare!/\‘H'\eﬂs C)X Cor(esp"\d ((.O
. O—O—++ @—t—rts  Open dots ©
0 1 2 4 5 6 7 8 9 10
[('e) ——— & —+——F—&—i-— a
0 1 2 4 5 6 7 8 9 10
Jivide both sides by 2
8. Solve for s in 2(9 — +/s) = 16. \
Possibilities: 2(9 - )S'\ =lb = 2-JS =8
() s=—7 -9 9
(b) No solution —Js'= -
1 =
(c) s = ; = J5'=1
= L:
(@) s=10 =s=1"=1
(e) s=1

9. Find the y-intercept(s) of the graph of y — 16 = z? — 9z — 2.

Possibilities:
(a) (2,0) only

(b)
(c) (7,
d) (0,14) only7
(e) (7,0) only

(7,14) and (2,14)

0) and (2,0)

m

= (d X - 9% +I14 (oulcl 6 + IoofH'\ S:'t‘itS
= Y=< o -9 (0 + |4 (pfu\g M O for X\)
= Lﬂ" 14
# The —.'nhrce,of is where the funclion crosses Fhe x- axie
j—o\x.

so ‘ol‘l-»-a\ W Y=o

o e e$m+:‘on




10. Solve for z in 5+ |7 —z| = 9.

Possibilities: = [7- x)=4 (Sub‘f‘fac{‘ 5 'fmm bo'H’) 51\0{653

(a) 7 and 3 ‘-"-—‘58”‘[«&% Zox=Y or Zox=-Y — )
(b) 7 only = either F-y=x o FAHEX (o 27?—{:{:: )
(C) 3 only = e) -’-‘\{r 2=X or =X |

(d) 11 only

! (e) 3 and lli

11. The point (8,3) is on the graph of which of the following equations?
Possibilities: cant be Y (83 #0)
(a) 4z +24 =4y + 24 Cant be (c) (8"#3"53
[ 4a?+24=9:y+32j Cant be (&) (g-g*g'z_:ﬁ&gﬂz)

=y —2>) [ o -
() z=y Cant be (Y (yY.g+24 = Y3124
56 3b

)
)

(d) zy =0
)

(e) zy +32 =zy + 12 The answer s (Y because. H4-8+24 = 8-3+32

32424 24 +22
(e A

5% st

2 P R . R o
12. The graph of z* + y* — 16z — 6y + 48 = 0 is a circle. Find its center and its radius. COMP‘Q"‘Q tl:ﬁce
2 — wate i
Possibilities: X “=lbyx + (b(z— 69 +48 =0 J Spree

i(a) Radius: 5 Center: (8,3) = (XL"“K +6“I)““>"l +(‘j ?._éy _(_93 -9 +4§ =0
(b) Radius: 4v/3 Center: (—8 2 2

. = (x-8) —AHJ«(?-BB -9+48 =0

) Radius: 10 Center: (16,6) 2 2

s (3.3 = (% -8)H(y-H*-25 =0
(d) Radius: 4v/3  Center: (8,3) 2 V=28
(e) Radius: 5 Center: (—8,—3) = (x-8)"+ (%’-3 .;- 2,2_

N R

(@2




13. Find an equation for the circle shown below:

Possibilities:

(8) (z -2+ (y-3)=5

() (z+2)*+(y—3)*=25

(c) (z—4)°+(y—6)=—2
() (z-22+(y+3)=2| )

2 2 _ . 10
(e) (z+2?+(y+3)*=5 (:‘j‘;‘
?(z,-B

b %
Ea)

codus :
center: L'?. -3)
e%uovl'non (x-2)"+ (% [—3’» =5*

14. Find all distinct, real solutions z to /11 —z =2 —5

Possibilities: = [|-%= (x-5)2 (S%u&u‘t ba'ﬂ\ S?o\QA
(a) 2 only = |)-%x = X*-)ox+t2%
(c) 11 only S x= ?_i 81 - 4() () (tbuoﬁm'\'ic formala with azl,b=-9,
(d) 11 and -5 2(1) c= ;q>
(¢) 7 only _ 91325 (gi-56=1F)
_ S %= —

S x= 345 _ WS 0 220 - Foae 2

2 = >

C%ef_k answers | /

X= 7 Ju ?' ? 5 7
? Yeg! R
X=F 38 «er On(«i soluion
=2 JN-2 =2~
J= -3 7 No!

T S AR Tt N T




15. Find an equation for the line through the points (6,7) and (9, 8).

Slope =27 =7

th'\‘: (6,7 =(7<°.'3A
PO:V\”’ 'S\OP?. *f‘ormq[a: (é, "‘éo =m (X - Xo\
=y- + '—=‘l§‘<7<"‘é)

Possibilities:
(8) y—T=3(z—0)

16. Rewrite the expression 22 — 8z + 3 by completing the square.

Possibilities:

2 L& \*_ 2>
(8) (x+4)"+13 X=8% 41616+ 3 (2= (-4 ~163
(b) (z+47-3 = (x-d" + -13

Rc) (x—4)*—13
(d) (z+8)*-3
(e) (z—8)°+3

17. Find all distinct, real solutions z to (> — 7) (z — 2) (z — 4) = 0.

Possibilities: =3>X1—7=0 or %-1=60 or ¥-H=o
(a) z=7,z=2,andz =4
f(b) mzj:\/’?,m:Q,and:c:Zq
(c) —7,z=-2,and z = —4 X= +JF

@ ;: ilﬁ coThamdr= Fhece we used the Zer eroclucf pmpmf‘g :

(¢) No solution T4 AR =0 thea either A=o oc B=0.
W Hh Fheee Jacdors s Hhis:
T4 Apc=0 then either A=, 620 or CGO.
tece A= &>~7) B*= (x-2), and C=CX"1).

S X =F or X=2 or X =Y

~I




18. Find the slope of the line in the graph.

cise - 1 1
Poscibilities: sto?e,‘-; fON 3 N
(a) 3 /.// }\
(b) =3 | LT [7T3
SR S :
(d) _% 3
(e) The slope is not defined. 2
19. Find all distinct, real solutions = to z'4 — 927 +18 =0 5
. L . Mo, H —, 2
Possibilities: 5.AL>$"" ')'M"'e, u=7¥ CV\O']" te K = (X ) =W [
(a) z =3 only Iy 7 1
- -9 I8=0 ;
((b)xz{/?;and:c:\‘/éj * .2_'x N o Tk
(¢) z=3"and z = 67 U= qut|E =
(d) z =6 only = (U..“3>(U\"63:C7
() z=3and z=6 = =3 or A=b

= x7=3 oc %'

== U3 ot x= U8

*n gl X‘l. #z
20. What is the distance between (-7, —2) and (4, —5)7

Possibilities: A‘\Skmce — JZX;‘X;\L'* (‘jl" g‘yf‘

(a) V/I06

(b) V58 =J (- )24 (52
(d) 3 :J(Tl)z"'(’g){’
0 =y <[ |




